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char* xmalloc (int n) { return malloc(n); } ) xmalloc

void £ (int size) {
p = xmalloc (size);
assert (sizeof(p) > 1); // Query 1 \
q = xmalloc (input()); 6
assert (sizeof(q) > 1); // Query 2
}

int main() {
f (8);
f (16);

}

R xmalloc

x
xmalloc

4-11 4-12 €



b-a<=%
1 int a = b; - b <= %
2 int c = input;(); . // User input g <= %
3 for (i = 0; i < b; i++) {
4+ assert (i < a); // Query 1 C-b<=T
5 assert (i < c); // Query 2 .
6 F | - C <= T

{a, b, i} {c}



char* xmalloc(int size){
return malloc(size);

pl = xmalloc(sl);
pllsl - 1] = 0; !

p2 = xmalloc(s2);
p2[s2 - 1] = 0;
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(s1 = size) \/ (s2 = size)
= size

/ T~ / \52= size

pl = xmalloc(sl); char* xmalloc(int size){ p2 = xmalloc(s2);
Silsl - 1] - ; return malloc(size); p2[s2 - 1] =
’ ¥
pl.size - sl <= +o00 p2.size - s2 <= +00



sl = size s2 = Size
e T
pl = xmalloc(sl); charx Xmalloc(int.size){ p2 = xmalloc(s2);
b1 [s1 - 1] = O: X return malloc(size); p2 [s2 - 1] = 0;
\ /
pl.size = sl p2.size = S2
{pl, sl, size} {p2, s2, size}
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1 char* xmalloc (int n) { return malloc(n); } ) xmalloc
2

3 void f (int size) {

4 p = xmalloc (size);

5 plsize - 1] = 0; // Query 1

6 q = xmalloc (input()); xmalloc
7 qlsize - 1] = 0; // Query 2

s  r

o B xmalloc
10 int main() {

Lot S
13}
0
Query1 : {s1, size, n, p}, 4-11
Query?2 : {s2, size, n, p}, 4-12
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char* xmalloc(int size){
return malloc(size);

}

pl = xmalloc(sl);
pllsl - 1] = 0;

p2 = xmalloc(s2);

p2[s2 - 1]

0;
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Summary of xmalloc:
size - xmalloc.ret <= %

sl - size <= %

size - xmallocl.ret <= %
xmallocl.ret - pl <= %
sl - pl <= %

s2 - size <= %

size - xmalloc2.ret <= %
xmalloc2.ret - p2 <= %
s2 - p2 <= %
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